

A note on λ -zeta function

Taekyun Kim

*Department of Mathematics,
Kwangwoon University,
Seoul 01897, Republic of Korea.
E-mail: tkkim@kw.ac.kr*

Jin-Woo Park

*Department of Mathematics Education,
Daegu University, Gyeongsangbuk-do, 38453,
Republic of Korea.
E-mail: a0417001@knu.ac.kr*

Seog-Hoon Rim

*Department of Mathematics Education,
Kyungpook National University,
Taegu 701-701, Republic of Korea.
E-mail: shrim@knu.ac.kr*

Jongjin Seo

*Department of Applied Mathematics,
Pukyong National University,
Busan, 48513, Republic of Korea.
E-mail: seo2011@pknu.ac.kr*

Abstract

In this paper, we introduce some properties of degenerate Bernoulli polynomials and construct degenerate Hurwitz's type zeta function which interpolates degenerate Bernoulli polynomials at negative integers.

AMS subject classification:

Keywords:

1. Introduction

It is well known that *Bernoulli polynomials* are given by the generating function to be

$$F(t, x) = \frac{t}{e^t - 1} e^{xt} = \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!}, \quad (\text{see [1-10]}). \quad (1.1)$$

When $x = 0$, $B_n = B_n(0)$ are called *Bernoulli numbers*.

For $s \in \mathbb{C} \setminus \{1\}$, the *Hurwitz's type zeta function* is defined as

$$\zeta(s, x) = \sum_{n=0}^{\infty} \frac{1}{(n+x)^s}, \quad (x \neq 0, -1, -2, \dots). \quad (1.2)$$

Note that $\zeta(s, x)$ is analytic function in complex s -plane except for $s = 1$.

Let $s = n \in \mathbb{N}$. Then we see that

$$\zeta(1-n, x) = -\frac{B_n(x)}{n}, \quad (\text{see [11]}). \quad (1.3)$$

For $s \in \mathbb{C}$ with $R(s) > 0$, the *gamma function* is defined by improper integral to be

$$\int_0^{\infty} t^{s-1} e^{-t} dt = \Gamma(s), \quad (\text{see [11]}). \quad (1.4)$$

From (1.4), we have

$$\Gamma(s+1) = s\Gamma(s) \text{ and } \Gamma(n+1) = n!, \quad (n \in \mathbb{N}). \quad (1.5)$$

By (1.4), we get

$$\begin{aligned} \frac{1}{\Gamma(s)} \int_0^{\infty} F(-t, x) t^{s-2} dt &= \frac{1}{\Gamma(s)} \int_0^{\infty} \frac{t e^{-xt}}{1 - e^{-t}} t^{s-2} dt \\ &= \frac{1}{\Gamma(s)} \sum_{n=0}^{\infty} \int_0^{\infty} e^{-(n+x)t} t^{s-1} dt \\ &= \frac{1}{\Gamma(s)} \sum_{n=0}^{\infty} \frac{1}{(n+x)^s} \int_0^{\infty} e^{-y} y^{s-1} dy \\ &= \sum_{n=0}^{\infty} \frac{1}{(n+x)^s} = \zeta(s, x). \end{aligned} \quad (1.6)$$

L. Carlitz introduced degenerate Bernoulli polynomials which are defined by the generating function to be

$$\frac{t}{(1+\lambda t)^{\frac{1}{\lambda}} - 1} (1+\lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} \beta_n(x|\lambda) \frac{t^n}{n!}, \quad (\text{see [3]}). \quad (1.7)$$

When $x = 0$, $\beta_n(\lambda) = \beta_n(0|\lambda)$ are called *degenerate Bernoulli numbers*.

Recently, Kim introduced *degenerate gamma function* which is given by

$$\Gamma(s|\lambda) = \int_0^\infty (1 + \lambda t)^{-\frac{1}{\lambda}} t^{s-1} dt, \quad (\text{cf. [8]}), \quad (1.8)$$

where $s \in \mathbb{C}$ with $R(s) > 0$ and $\lambda \in (0, 1)$. From (1.8), we note that

$$\Gamma(s + 1|\lambda) = s \Gamma\left(s \left| \frac{\lambda}{1 - \lambda} \right. \right) \left(\frac{1}{1 - \lambda} \right)^{s+1}, \quad (1.9)$$

and

$$\Gamma(n|\lambda) = \frac{(n - 1)!}{(1 - \lambda)(1 - 2\lambda) \cdots (1 - n\lambda)}, \quad (1.10)$$

where $\lambda \in \left(0, \frac{1}{n}\right)$ and $n \in \mathbb{N}$.

In this paper, we study degenerate Hurwitz's type zeta function which interpolates at negative integers.

2. A note on λ -zeta function

In this section, we assume that $\lambda \in (0, 1)$. Let

$$F(t, x|\lambda) = \frac{t}{(1 + \lambda t)^{\frac{1}{\lambda}} - 1} (1 + \lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} \beta_n(x|\lambda) \frac{t^n}{n!}. \quad (2.1)$$

Thus, by (2.1), we get

$$\sum_{n=0}^{\infty} \beta_n(1|\lambda) \frac{t^n}{n!} - \sum_{n=0}^{\infty} \beta_n(\lambda) \frac{t^n}{n!} = t. \quad (2.2)$$

From (2.2), we note that

$$\beta_0(\lambda) = 1, \quad \beta_n(1|\lambda) - \beta_n(\lambda) = \delta_{1,n},$$

where $\delta_{n,k}$ is the Kronecker's symbol.

Now, we observe that

$$\begin{aligned} \sum_{n=0}^{\infty} \beta_n(x|\lambda) \frac{t^n}{n!} &= \left(\frac{t}{(1 + \lambda t)^{\frac{1}{\lambda}} - 1} \right) (1 + \lambda t)^{\frac{x}{\lambda}} \\ &= \left(\sum_{n=0}^{\infty} \beta_n(\lambda) \frac{t^n}{n!} \right) \left(\sum_{m=0}^{\infty} (x|\lambda)_m \frac{t^m}{m!} \right) \\ &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \binom{n}{m} (x|\lambda)_m \beta_m(\lambda) \right) \frac{t^n}{n!}, \end{aligned} \quad (2.3)$$

where $(x|\lambda)_m = x(x - \lambda)(x - 2\lambda) \cdots (x - (m - 1)\lambda)$ and $(x|\lambda)_0 = 1$. By comparing the coefficients on the both sides of (2.3), we have

$$\beta_n(x|\lambda) = \sum_{m=0}^n \binom{n}{m} (x|\lambda)_m \beta_m(\lambda), \quad (n \geq 0). \quad (2.4)$$

In the viewpoint of (1.6), we define *degenerate Hurwitz's type zeta function* which is given by

$$\zeta(s, x|\lambda) = \frac{1}{\Gamma(s|\lambda)} \int_0^\infty F(-t, x|\lambda) t^{s-2} dt, \quad (2.5)$$

where $s \in \mathbb{C} \setminus \{1\}$ and $x \neq 0, -1, -2, \dots$.

From (2.1) and (2.5), we have

$$\begin{aligned} \zeta(s, x|\lambda) &= \frac{1}{\Gamma(s|\lambda)} \int_0^\infty F(-t, x|\lambda) dt \\ &= \frac{1}{\Gamma(s|\lambda)} \int_0^\infty \frac{t}{1 - (1 + \lambda t)^{-\frac{1}{\lambda}}} (1 + \lambda t)^{-\frac{x}{\lambda}} t^{s-2} dt \\ &= \frac{1}{\Gamma(s|\lambda)} \int_0^\infty \sum_{n=0}^\infty (1 + \lambda t)^{-\frac{n+x}{\lambda}} t^{s-1} dt \\ &= \frac{1}{\Gamma(s|\lambda)} \sum_{n=0}^\infty \frac{1}{(n+x)^s} \int_0^\infty \left(1 + \frac{\lambda}{n+x} t\right)^{-\frac{n+x}{\lambda}} t^{s-1} dt \\ &= \sum_{n=0}^\infty \frac{1}{(n+x)^s} \frac{\Gamma\left(s \left| \frac{\lambda}{n+x} \right.\right)}{\Gamma(s|\lambda)}. \end{aligned} \quad (2.6)$$

Thus, by (2.6), we get

$$\zeta(s, x|\lambda) = \sum_{n=0}^\infty \frac{1}{(n+x)^s} \frac{\Gamma\left(s \left| \frac{\lambda}{n+x} \right.\right)}{\Gamma(s|\lambda)}, \quad (2.7)$$

where $s \in \mathbb{C} \setminus \{1\}$ and $x \neq 0, -1, -2, \dots$

Let $s = m \in \mathbb{N}$ and $\lambda \in \left(0, \frac{1}{m}\right)$. Then, by (1.10) and (2.7), we have

$$\begin{aligned}
 \zeta(m, x|\lambda) &= \sum_{n=0}^{\infty} \frac{1}{(n+x)^m} \frac{\Gamma\left(m \left| \frac{\lambda}{n+x} \right.\right)}{\Gamma(m|\lambda)} \\
 &= \sum_{n=0}^{\infty} \frac{1}{(n+x)^m} \frac{(m-1)!}{\left(1 - \frac{\lambda}{n+x}\right) \left(1 - \frac{2\lambda}{n+x}\right) \cdots \left(1 - \frac{m\lambda}{n+x}\right)} \\
 &\quad \times \frac{1}{(m-1)!} (1-\lambda)(1-2\lambda) \cdots (1-m\lambda) \\
 &= \sum_{n=0}^{\infty} \frac{1}{(n+x)^m} \frac{(1-\lambda)(1-2\lambda) \cdots (1-m\lambda)}{\left(1 - \frac{\lambda}{n+x}\right) \left(1 - \frac{2\lambda}{n+x}\right) \cdots \left(1 - \frac{m\lambda}{n+x}\right)}.
 \end{aligned} \tag{2.8}$$

Thus, (2.8), we get

$$\zeta(m, x|\lambda) = \sum_{n=0}^{\infty} \frac{1}{(n+x)^m} \frac{(1-\lambda)(1-2\lambda) \cdots (1-m\lambda)}{\left(1 - \frac{\lambda}{n+x}\right) \left(1 - \frac{2\lambda}{n+x}\right) \cdots \left(1 - \frac{m\lambda}{n+x}\right)}, \tag{2.9}$$

where $m \in \mathbb{N}$ and $\lambda \in \left(0, \frac{1}{m}\right)$. From (2.1) and (2.5), we can derive the following equation:

$$\begin{aligned}
 \zeta(s, x|\lambda) &= \frac{1}{\Gamma(s|\lambda)} \int_0^{\infty} F(-t, x|-\lambda) t^{s-2} dt \\
 &= \frac{1}{\Gamma(s|\lambda)} \int_0^{\infty} \frac{t(1+\lambda t)^{-\frac{x}{\lambda}}}{1 - (1+\lambda t)^{-\frac{1}{\lambda}}} t^{s-2} dt \\
 &= \frac{1}{\Gamma(s|\lambda)} \sum_{n=0}^{\infty} \beta_n(x|-\lambda) (-1)^n \frac{t^{n+s-2}}{n!}.
 \end{aligned} \tag{2.10}$$

Let us take $s = -m$ ($m \in \mathbb{N}$). Then, by Laurent series, we get

$$\zeta(-m, x|\lambda) = 2\pi i \frac{\beta_{m+1}(x|-\lambda)}{(m+1)!} (-1)^{m+1} \frac{1}{\Gamma(-m|\lambda)}. \tag{2.11}$$

Now, we observe that

$$\Gamma(-m|\lambda) = \frac{2\pi i}{m!} (\lambda+1)(2\lambda+1) \cdots ((m-1)\lambda+1) (-1)^m. \tag{2.12}$$

Therefore, by (2.11) and (2.12), we obtain the following equation:

$$\begin{aligned}
 \zeta(-m, x|\lambda) &= \frac{2\pi i}{(m+1)!} \beta_{m+1}(x|-\lambda) (-1)^{m+1} \frac{m!}{2\pi i (\lambda+1)(2\lambda+1) \cdots ((m-1)\lambda+1)} \\
 &= -\frac{\beta_{m+1}(x|-\lambda)}{m+1}.
 \end{aligned} \tag{2.13}$$

Remark 2.1. By (2.13), we get

$$\begin{aligned}\lim_{\lambda \rightarrow 0} \zeta(-m, x|\lambda) &= \lim_{\lambda \rightarrow 0} \left(-\frac{\beta_{m+1}(x|\lambda)}{m+1} \right) = -\frac{B_{m+1}(x)}{m+1} \\ &= \zeta(-m, x), \quad (m \in \mathbb{N}).\end{aligned}$$

References

- [1] A. Bayad and J. Chikhi, *Nonlinear recurrences for Apostol-Bernoulli-Euler numbers of higher order*, Adv. Stud. Contemp. Math., **22** (2012), no. 1, 1–6.
- [2] A. Bayad and T. Kim, *Identities for the Bernoulli, the Euler and the Genocchi numbers and polynomials*, Adv. Stud. Contemp. Math., **20** (2010), no. 2, 247–253.
- [3] L. Carlitz, *Degenerate Stirling, Bernoulli and Eulerian numbers*, Utilitas Math., **15** (1979), 51–88.
- [4] D. Ding and J. Yang, *Some identities related to the Apostol-Euler and Apostol-Bernoulli polynomials*, Adv. Stud. Contemp. Math., **20** (2010), no. 1, 7–21.
- [5] J. Choi, D. S. Kim, T. Kim and Y. H. Kim, *Some arithmetic identities on Bernoulli and Euler numbers arising from the p -adic integral on $\mathbb{Z}_p$* , Adv. Stud. Contemp. Math., **22** (2012), no. 2, 239–247.
- [6] G. Kim, B. Kim and J. Choi, *The DC algorithm for computing sums of powers of consecutive integers and Bernoulli numbers*, Adv. Stud. Contemp. Math., **17** (2008), no. 2, 137–145.
- [7] D. S. Kim, N. Lee, J. Na and K. H. Park, *Abundant symmetry for higher-order Bernoulli polynomials (I)*, Adv. Stud. Contemp. Math., **23** (2013), no. 3, 461–482.
- [8] T. Kim, *Degenerate Euler zeta function*, (to appear).
- [9] T. Kim, *Degenerate Bernoulli polynomials associated with p -adic invariant integral on $\mathbb{Z}_p$* , Adv. Stud. Contemp. Math., **25** (2015), no. 3, 273–279.
- [10] Y. H. Kim and K. W. Hwang, *Symmetry of power sum and twisted Bernoulli polynomials*, Adv. Stud. Contemp. Math., **18** (2009), no. 2, 127–133.
- [11] L. C. Washington, *Introduction to cyclotomic field, Second edition, Graduate Texts in Mathematics*, 83, Springer-Verlag, New York, 1997. xiv+487 pp. ISBN:0-387-94762-0.